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(4) I —dx arctan x + C;
1+x
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(6) jcosxdx= sinx + C;

dx = arcsinx + C;

(7) Isinxdx= —cosx + C;

(8) _[ j sec? xdx = tanx + C;

COS X

(9) I Icscz xdx = —cotx+C;
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(10) Isecxtanxdx = secx + C;

(11) Icscxcotxdx = —cscex+ C;
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(13) jaxdx=“ +C;
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(14) [ sinh xdx = coshx +C;

(15) jcosh xdx = sinh x+ C.
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iE [ [ £eode [ gl ]
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x(1+x%)
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1 1 1 1
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=arctanx+Inx+C.
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fi# Y sec” x +sin x,
dx
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- p0)=5, .. C=6,

iR LR FFEN y =tanx —cosx +6.
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e, x>0,
FIAER 77 T
2 §x3—1x2+x+C1,x<0,
[ foax=4c, x=0,

e’ +C,, x> 0.

\

ARFér 50 L FIE Ao a1 I [ I [ [ [ S



1 1

x>0

Bl C,=C=0C,+1,

[ £(o)dx =+

x—0

lim (= x’ —Zx2+x+C1)=C= lim (e* + ),

r

1x3—1x2+x+C,x<0,
3 4

C, x=0,
e"+C-1, x> 0.

\

b apge FPUE RS (1)

25



4.5 INGERZE

R RBEIMES: F'(x)= f(x)
AERGT IR [ f(x)dx = F(x)+C
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21 2.3*=-5.2"
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In3—In2
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